BEAM HEIGHT-ADJUSTABLE

WORKSTATIONS

ASSEMBLY INSTRUCTIONS

Gebeso

gebesa.com

Questions?
Call Toll Free 1-844-2GEBESA or email warranty@gebesa.com



BEAM HEIGHT-ADJUSTABLE WORKSTATIONS

&
O 4x ALLEN SCREW 1/4" x 1"
&
1x
Post 4x (1 WAY)
8x (2 WAYS o8
Rwavs) (5T
ﬁ 12x (3 WAYS) = PHILLIPS SCREW 1/4" x 1/2"
=
16x (4 WAYS) =
4x (1 WAY)
1x 8x (2 WAYS)
Flat post base 12x (3 WAYS) @ LOCK WASHER 1/4"
16x (4 WAYS)
2x (90" & 120")

3x (150”,165" & 180”)

PLASTIC SCREW 1/4"x 1/2"

REQUIRED ASSEMBLY TOOLS NOT INCLUDED

I~

HEX KEY

SCREW DRIVER

Gebeso

gebesa.com



BEAM HEIGHT-ADJUSTABLE WORKSTATIONS
ACCESSORIES

1x
Privacy screen

*Clamps not included

PXS
. &
2x (36 & 487) = PHILLIPS SCREW 1/4" x 1/2"
3x (60",66" & 72" =
1x
Cable Management Tray 2x (36" & 48") @ LOCK WASHER 1/4"
3x (60”,66" & 72"
<
<P
@ ALLEN SCREW 1/4"x 1/2"
1x 2x g / /
1x
Power pole

HEAD DRILLING SCREW 8x1/2"

1x @ 10x

a((ﬂ@

7 [

4x 4x #8 x 1" SCREW

Vi
)

Gebeso

3 gebesa.com



BEAM HEIGHT-ADJUSTABLE WORKSTATIONS

4x ALLEN SCREW 1/4x1"

4x PHILLIPS SCREW 1/4x1/2"
4x LOCK WASHER 1/4"

Gebeso

gebesa.com



BEAM HEIGHT-ADJUSTABLE WORKSTATIONS

Gebeso
5 gebesa.com



BEAM HEIGHT-ADJUSTABLE WORKSTATIONS

Gebeso

o) gebesa.com



BEAM HEIGHT-ADJUSTABLE WORKSTATIONS

7

-

1
—
;»:

steps 5,6,7

&7

o d

Gebeso

gebesa.com



BEAM HEIGHT-ADJUSTABLE WORKSTATIONS

ACCESSORIES INSTRUCTIONS

PRIVACY SCREEN

*Screens (Clamps not included)
*Clamps may vary depending on the type of screen

7
Gebeso

8 gebesa.com



BEAM HEIGHT-ADJUSTABLE WORKSTATIONS

CABLE MANAGEMENT TRAY

Ix PHILLIPS SCREW 1/4" x 1/2"
Ix LOCK WASHER 1/4"

L - 3
\Qﬁb
4
1
7
POWER POLE
<&

=
N
;i

2x ALLEN SCREW 1/4"x 1/2"

] Gebeso

9 gebesa.com



BEAM HEIGHT-ADJUSTABLE WORKSTATIONS

<
Ay

Ceiling

f

eV wa

@D

4xHEAD DRILLING SCREW 8x1/2"

Gebeso

gebesa.com




BEAM HEIGHT-ADJUSTABLE WORKSTATIONS

®)

4xHEAD DRILLING SCREW 8x1/2"

/<F\

=

Gebeso

gebesa.com



